Turk. J. Math. Comput. Sci. 15(2)(2023) 423–432 © MatDer DOI : 10.47000/tjmcs.1166566



# A Note on the Composition of a Positive Integer Whose Parts are Odd Integers

BUSRA AL<sup>1,\*</sup>, MUSTAFA ALKAN<sup>2</sup>

<sup>1</sup>Department of Computer Technologies and Programming, Manavgat Vocational School, Akdeniz University, 07600, Turkey. <sup>2</sup>Department of Mathematics/Faculty of Science, Akdeniz University, 07070, Turkey.

Received: 24-08-2022 • Accepted: 20-06-2023

ABSTRACT. In this study, we interested in the compositions of integers. Then, the combinations of an integer whose each part is odd were examined.

 $O_n = \{(2a_1 + 1, ..., 2a_t + 1): 2a_1 + 1 + ... + 2a_t + 1 = n \text{ and } a_i \text{ positive integer}\}.$ 

and we call the set as an odd combination set  $O_n$  set of an integer n. Then, an action on the set are defined. Then, the decomposition of the composition sets of a positive integer has been examined by using set theory. Then, we also focused on the combination of an integer n whose sum is less than a fixed integer m. We have obtained the composition set of an integer whose largest part is less than m. Using these sets, we obtained recurrence relations.

#### 2020 AMS Classification: 05A15,05A17,05A18, 11B39,11B99

**Keywords:** Compositions of positive integers, partitions of positive integers, the odd combination set of an integer, Fibonacci numbers, generating function.

### 1. INTRODUCTION

Partition Theory is an important area of additive number theory, a subject concerning the representation of integers as sum of other integers. Recently, many researcher have written many publication on the theory of partition of a number because the rich history of partition of a number has been gone back to not only to very famous mathematicians Leonard Euler, but also Jacobi and also Indian mathematicians S. Ramanujan and English mathematicians G. H. Hardy [7, 8, 10, 13, 15, 17, 20].

Partition of a positive integer is expressing that number as the sum of positive integers. The number of these parts will be denoted by p(n). For a positive integer n, the partition function to be studied is the number of ways n can be written as a sum of positive integers n.

Partition are divided into compositions and partitions. The commutative of the sums in partition is not important, while the non-commutative of the sums in composition is important.

**Example 1.1.** The number 4 has 5 partitions and the number of compositions is 8.

\*Corresponding Author

Email addresses: busraal@akdeniz.edu.tr (B. Al), alkan@akdeniz.edu.tr (M. Alkan)

The set of partition of 5 is

 $\{5; (4, 1); (3, 2); (3, 1, 1); (2, 2, 1); (2, 1, 1, 1); (1, 1, 1, 1)\}$ 

and 5 has 7 partitions.

The set of composition of 5 is

# $\{5; (4, 1); (1, 4); (3, 2); (2, 3); (3, 1, 1); (1, 3, 1); (1, 1, 3); (2, 2, 1); (2, 1, 2); (1, 2, 2); (2, 1, 1, 1); (1, 2, 1, 1); (1, 1, 2, 1); (1, 1, 1, 2); (1, 1, 1, 1)\}$

and 5 has 16 compositions.

## 2. PARTITIONS

There is a lot of information about partitions in the literature. The expressions that will be used in our study from this information are briefly summarized.

Euler investigated the generating function of the number of partitions of an integer n, as follows

$$f(x) = \prod_{n=1}^{\infty} \frac{1}{(1-x^n)} = \sum_{n=0}^{\infty} p(n)x^n,$$

where 0 < *x* < 1 [11].

After Euler's iteration for the partition of an integer, many mathematicians worked to obtain a more efficient version of the recurrence relation. The main purpose of the studies is to aim to reach the result by reducing the processes. In studies conducted in this area, J.A.Ewell, M. Merca, B. Al, and M. Alkan ([14, Theorem 1.2], [22, Theorem 1], [2, Theorem 2.4 and 2.5]) have obtained more effective recurrence relations.

As the studies on the partition theory progressed, new information was obtained by restricted partition. In the literature, the restricted partitions are substantial as unrestricted partition of an integer [18, 19, 21].

From [11, page 309], we recall that the number of partitions of k into parts not exceeding m is denoted by  $p_m(k)$  for integers m, k. Then,  $p_m(k) = p(k)$  for  $m \ge k$ . It is clear that  $p_m(k)$  is less than p(k) and the computation of  $p_m(k)$  is simpler for integers m, k. The generating function for the number of partitions of k into parts not exceeding m is defined as

$$F_m(x) = \prod_{i=1}^m \frac{1}{1-x^i} = 1 + \sum_{i=1}^\infty p_m(i)x^i.$$

In the literature, the restricted partitions are substantial as unrestricted partition of an integer [9, 23–25]. In [11], the generating function of the number of partitions of an integer n into odd part is

$$\prod_{n=1}^{\infty} \frac{1}{1 - x^{2n-1}} = \sum_{n=0}^{\infty} Q(n) x^n.$$

The generating function of the number of partitions of an integer n into distinct odd parts is

$$\prod_{n=1}^{\infty} (1 + x^{2n-1}) = \sum_{n=0}^{\infty} Z(n) x^n.$$

The integer 6 has the partition p(6) = 11. Since the number of partitions, which are all odd numbers (the ones with odd partition are written in bold), is 4, Q(6) = 4 and the odd and irregular partition is 1 + 5, that is, Z(6) = 1. In order

to see these three values together, if the number 6 is analyzed by breaking it down, it becomes

 $6 \\ 1+5 \\ 4+2 \\ 4+1+1 \\ 3+3 \\ 3+2+1 \\ 3+1+1+1 \\ 2+2+2 \\ 2+2+1+1 \\ 2+1+1+1+1 \\ 1+1+1+1+1 + 1.$ 

3. Compositions

While there is a lot of information about partitions in the literature, information about compositions is limited. One of these information is the theorem that Gupta proved.

**Theorem 3.1** ([16]). , The number of partition of a composition of a positive integer n is  $2^{n-1}$ .

*Proof.* The partitions of *n* can be classified under two heads: Those in which the first part is 1; and those in which the first part is > 1. Removing 1 (the first part), from each partition of *n* of the first kind, we obtain all the different partitions of (n - 1), each once. Reducing by 1 the first part in the partitions of the second kind, we again get all the partitions of (n - 1) as before. Hence, the number of partitions of n, is twice the number of partitions of (n - 1) and the result follows readily by induction.

We focus on decompositions of the composition sets. We recall some expressions from [1].

Let *n* be a positive integer and we define the set

$$P_n = \{(a_1, a_2, \dots, a_t) : a_1 + a_2 + \dots + a_t = n, \quad a_i, t \in \mathbb{Z}^+\}$$

In fact, the element of  $P_n$  is a composition of integer *n* and so  $P_n$  is the set of a composition of an integer *n*.

Now, we want to construct  $P_{n+1}$  by using  $P_n$ . First, we define operations with the a composition  $a = (a_1, a_2, ..., a_t)$  of integer n;

$$(1 \odot a) = (1, a_1, a_2, ..., a_t),$$
  
 $(1 \oplus a) = (a_1 + 1, a_2, ..., a_t).$ 

Then,  $1 \oplus a, 1 \odot a \in P_{n+1}$  and sowe also use the notations  $1 \oplus P_n, 1 \odot P_n$  for the set of new type elements, i,e;

$$1 \oplus P_n = \{1 \oplus a : a \in P_n\}$$
$$1 \odot P_n = \{1 \odot a : a \in P_n\}.$$

**Example 3.2.** The number 3 has 4 compositions. The set of composition of 3 is  $\{3; (1,2); (2,1); (1,1,1)\}$ . Thus

$$1 \oplus P_3 = \{4; (2,2); (3,1); (2,1,1)\},\$$

$$1 \odot P_3 = \{(1,3); (1,1,2); (1,2,1); (1,1,1,1)\}.$$

**Theorem 3.3** ([1]). , For a positive integer n, we have

$$P_{n+1} = (1 \oplus P_n) \cup (1 \odot P_n).$$

Example 3.4.

$$1 \oplus P_3 = \{4; (2, 2); (3, 1); (2, 1, 1)\},\$$
  
$$1 \odot P_3 = \{(1, 3); (1, 1, 2); (1, 2, 1); (1, 1, 1, 1)\}.$$

Thus,

$$(1 \oplus P_3) \cup (1 \odot P_3) = \{4; (2, 2); (3, 1); (2, 1, 1)\} \cup \{(1, 3); (1, 1, 2); (1, 2, 1); (1, 1, 1, 1)\}$$
$$= P_4.$$

We can give an alternative proof with Theorem 3.3 for the theorem that Gupta proved.

**Theorem 3.5.** The number of a composition of an integer n (n > 1) is  $2^{n-1}$ .

*Proof.* Let *n* be a positive integer. It is clear that, the number of element of both  $(1 \oplus P_n)$  and  $(1 \odot P_n)$  are equal, i.e.  $(|1 \oplus P_n| = |1 \odot P_n|$  and so  $|P_{n+1}| = 2|1 \odot P_n|$ . Since  $|P_2| = 2$ , we have that  $|P_{n+1}| = 2^n$  by induction metod [3].

In [5], we generated the formula that gives the composition number of n patches consisting of m parts.

Theorem 3.6. Number of k decompositions of n positive integers, where k and n are positive integers

$$P_k(n) = \frac{(n-1)!}{(n-k)!(k-1)!}.$$

By using the non commutative partition set of an integer *n*, we define the notation  $\bar{a} = a_1.a_2.a_3...a_t$  for multiplication of summand where  $n = a_1 + ... + a_t$ . The sum of multiplication of summand in the non commutative partition set  $P_n$  define the function from the non commutative partition sets of integers to to positive integers defined by

$$T_n := T(P_n) = \sum_{a \in P_n} \bar{a}.$$

We may assume that,  $T_0 = 1$  and  $T_n = T(P_n)$  is called the multiplication sum of the non commutative partition set  $P_n$  (or the multiplication sum of the integer n) [3]. It is well known that the number element of the non commutative partition set  $P_n$  is  $2^n$  and now our aims are to investigate both the number element of the non commutative partition subset of  $P_n$  and the multiplication sum of the non commutative partition subset of  $P_n$ . For new notions, we state an easy numeric example;

**Example 3.7.** For n = 3, we have  $P_3 = \{(3), (1, 1, 1), (1, 2), (2, 1)\}$  and  $T_3 = T(P_3) = 8$ . Moreover, it follows  $1 \odot P_3 = \{(1, 3), (1, 1, 1, 1), (1, 1, 2), (1, 2, 1)\}$ 

$$1 \oplus P_3 = \{(4), (2, 1, 1), (2, 2), (3, 1)\}$$

and so  $P_4 = (1 \odot P_3) \cup (1 \oplus P_3)$ . Then,  $T_4 = T(P_4) = 13$ .

By Theorem 3.3, we obtain a recurance for the multipliction sum of the non commutative partition sets;

**Theorem 3.8** ([6]). For a positive integer n, we have

$$T_{n+1} = T_n + \sum_{i=0}^n T_{n-i}.$$
(3.1)

*Proof.* For an element  $a \in P_{n+1}$ , there is  $b = (b_1, b_2, ..., b_l) \in P_n$  such that either  $\overline{a} = \overline{1 \odot b} = \overline{b}$  or  $\overline{a} = \overline{1 \oplus b}$  and so  $\overline{a} = \overline{1 \odot b} = \overline{b}$  or  $\overline{a} = \overline{1 \oplus b} = (b_2 ... b_l) + \overline{b}$ . Hence, we have that

$$T(1 \odot P_n) = \sum_{1 \odot b \in 1 \odot P_n} \overline{b} = T_n.$$

Moreover, it follows that

$$T(1 \oplus P_n) = \sum_{a \in P_n} (1 + a_1).a_2.a_3...a_t$$
$$= \sum_{a \in P_n} (a_1.a_2.a_3...a_t) + \sum_{i=1}^n \sum_{(a_2.a_3...a_i) \in P_{n-i}} (a_2a_3...a_t)$$
$$= T_n + \sum_{i=1}^n T_{n-i} = \sum_{i=0}^n T_{n-i}.$$

Therefore, we have that

$$T_{n+1} = T(P_{n+1}) = T(1 \odot P_n) + T(1 \oplus P_n) = T_n + \sum_{i=0}^n T_{n-i}$$

Hence, we have completed the proof.

By using Equations (4.1), (3.1) and the induction method, we obtain the generating function for  $T_n$ .

**Theorem 3.9** ([6]). *The generating function of*  $T_n$  *for a positive integer n is* 

$$\sum_{n=0} T_n x^n = \frac{x}{1-3x+x^2}.$$

*Proof.* Let  $h(x) = \sum_{n=1}^{n} T_n x^n$ . Then,

$$\begin{split} h(x) &= \sum_{n=1}^{\infty} T_n x^n = T_1 x + \sum_{n=2}^{\infty} T_n x^n \\ &= x + x \sum_{n=1}^{\infty} \left( T_n + \sum_{i=0}^n T_{n-i} \right) x^n \\ &= x + x h(x) + x \left( T_1 x + T_0 x + \sum_{n=2}^n \sum_{i=0}^n T_{n-i} x^n \right) \\ &= x + x h(x) + x \left( 2x + \sum_{n=1}^{n+1} \sum_{i=0}^{n+1} T_{n+1-i} x^{n+1} \right) \\ &= x + x h(x) + 2x^2 + x \sum_{n=1}^n T_{n+1} x^{n+1} + x \sum_{n=1}^n \sum_{i=0}^n T_{n-i} x^{n+1} \\ &= x + x h(x) + 2x^2 + x \sum_{n=1}^n T_{n+1} x^{n+1} + x \sum_{n=1}^n (T_{n+1} - T_n) x^{n+1} \\ &= x + x h(x) + 2x^2 - x^2 h(x) + 2x \sum_{n=2}^n T_n x^n \\ &= x + x h(x) - x^2 h(x) + 2x h(x). \end{split}$$

Thus,

$$h(x) = \frac{x}{1 - 3x + x^2}.$$

Hence, we have completed the proof.

It is well known that the generating function for even Fibonacci number is  $\frac{x}{1-3x+x^2}$ .

**Theorem 3.10.** For any positive integer, we have that  $T_n = f_{2n}$ .

#### 4. THE ODD COMBINATIONS SET OF AN INTEGER

Now, we focus on the combinations of an integer whose each part is odd. We will examine odd compositions with set theory. Let us use the notion

$$O_n = \{(2a_1 + 1, ..., 2a_t + 1): 2a_1 + 1 + ... + 2a_t + 1 = n \text{ and } a_i \text{ positive integer}\}$$

and we call the set as an odd combination set  $O_n$  set of an integer n. It is clear that, the even combination set of an even integer 2n involved to the combination set of an integer n and so the number of element of the even combination set of 2n is  $2^{n-1}$ . Now, we try to decompose the odd combination set as union of subset of odd combinations set of integers.

**Theorem 4.1** ([6]). For a positive integer n, we get the decomposition of an odd combination of an integer n as a disjoint union of subset of odd combinations set of integers;

$$O_{2n+1} = \{(2n+1)\} \cup \bigcup_{i=0}^{n-1} ((2i+1) \odot O_{2(n-i)})$$
$$O_{2n} = \bigcup_{i=0}^{n-1} ((2i+1) \odot O_{2(n-i)-1}).$$

*Proof.* It is enough to show that, one inclusion for the odd number n = 2k + 1, where k an integer. Let  $x = (2a_1 + 1, ..., 2a_t + 1)$  and assume that t is different from 1. Then,  $n - 2a_1 - 1 = 2m$  for an integer even and so the element  $b = (2a_2 + 1, ..., 2a_t + 1)$  is  $O_{2m}$ . Therefore,  $x = (2a_1 + 1) \odot O_{2n-2a_2}$  and this complete the proof.

427

**Corollary 4.2.** The number  $k_n$  of element of the odd combination set of an integer is the nth Fibonacci number.

*Proof.* By Theorem 4.1, it is easy to prove that  $k_{n+1} = k_n + k_{n-1}$  and  $k_0 = 0, k_1 = 1$ .

Using Theorem 4.1, it is easy to reprove the well known identities

$$f_{2n+1} = 1 + \sum_{i=1}^{n} f_{2i} \tag{4.1}$$

and

$$f_{2n} = \sum_{i=0}^{n-1} f_{2i+1}$$

for both the even and odd Fibonacci number.

In [6], we investigated the product sum of an odd combination of an integer n, i.e.,

$$o_n := \sum_{a \in O_n} \bar{a}.$$

One may compute the sequence as

$$o_1 = 1, o_2 = 1, o_3 = 4, o_4 = 7, o_5 = 15, o_6 = 32,$$
  
 $o_7 = 65, o_8 = 137, o_9 = 284, o_{10} = 591, o_{11} = 1231...$ 

**Theorem 4.3** ([6]). The generating function for the product sum of an odd composition sets is

$$o(x) = 1 + x^{2} (x + 1) \frac{-2x + x^{2} - 1}{x + 2x^{2} + x^{3} - x^{4} - 1},$$

*where* |x| < 1.

*Proof.* [6], we have the recurrence relations for either an even or an odd term of the product sum of an odd composition of an integer, for an integer n,

$$o_{2n+3} = 3o_{2n} + 3o_{2n+1} - o_{2n-2} \tag{4.2}$$

$$o_{2n+2} = o_{2n+1} + 2o_{2n} + o_{2n-1} - o_{2n-2}.$$
(4.3)

Let  $o(x) = \sum_{n=1}^{\infty} o_n x^n = 1 + \sum_{n=1}^{\infty} o_{2n} x^{2n} + \sum_{n=1}^{\infty} o_{2n+1} x^{2n+1}$  be the generating function for the product sum of an odd composition of integers and so it is enough to investigate

$$A(x) = \sum_{n=1}^{\infty} o_{2n} x^{2n}$$
$$B(x) = \sum_{n=1}^{\infty} o_{2n+1} x^{2n+1}$$

By using the recurrence identity (4.2), it is easy to compute that

$$(1 - 3x2)B(x) = x3(3 - x2)A(x) + 4x3.$$
(4.4)

Similarly, it is also easy to compute

$$A(x) = \frac{x(x^2+1)}{(x^2-1)^2}B + \frac{x^2(x^2+1)}{(x^2-1)^2},$$
(4.5)

due to the recurrence identity (4.3). Then, combining the equations (4.4) and (4.5), we figure out both A and B and so it follows that

$$B(x) = -x^{3} \frac{5x^{2} - 6x^{4} + x^{6} - 4}{(x + 2x^{2} + x^{3} - x^{4} - 1)(x - 2x^{2} + x^{3} + x^{4} + 1)},$$
  

$$A(x) = x^{2} \frac{(x^{2} + 1)^{2}}{(x - 2x^{2} + x^{3} + x^{4} + 1)(-x - 2x^{2} - x^{3} + x^{4} + 1)}.$$

Therefore, we investigate the generating function

$$o(x) = 1 + x^{2} (x+1) \frac{-2x + x^{2} - 1}{x + 2x^{2} + x^{3} - x^{4} - 1}.$$

Now, we focus on the composition of an integer *n* whose summands less than the fix integer m = 2t + 1. We recall some expressions from [4]. For positive integer *n*,*t*; we use the notation the subset  $O_{n,2t+1}$  of  $O_n$  for the biggest summand 2t + 1 of odd composition of *n*, i.e.,

$$O_{n,m} = \{(2a_1 + 1, 2a_2 + 1, ..., 2a_k + 1) : 2(a_1 + ... + a_k) + k = n, a_i \le m \text{ for all } i, \text{ and } k \in \mathbb{Z}^+\}.$$

When  $n \le m$ , it is clear that  $O_{n,m} = O_n$ . And again, if m = 2l by definition,  $O_{n,m} = O_{n,2l}$ .

We will now define a new notation to derive the recurrence relation, which gives parts of the odd compositions of the positive integer n, the largest summand of which is m.

First, we define notation with the a composition  $b = (2b_1 + 1, 2b_2 + 1, ..., 2b_k + 1)$  of integer n, i;

$$(i \odot b) = (i, 2b_1 + 1, 2b_2 + 1, ..., 2b_k + 1),$$

Then,  $i \odot b \in O_{n+i}$  and sowe also use the notaion  $i \odot O_n$  for the set of new type elements, i,e;

$$i \odot O_n = \{i \odot b : b \in O_n\}.$$

**Example 4.4.** The set of composition of 5 is

$$\{5; (4, 1); (1, 4); (2, 3); (3, 2); (3, 1, 1); (1, 3, 1); (1, 1, 3); (2, 2, 1); (2, 1, 2); (1, 2, 2); (2, 1, 1, 1); (1, 1, 2); (1, 2, 1, 1); (1, 1, 2, 1); (1, 1, 1, 1, 1)\}$$

and 5 has 16 compositions. The set of odd composition of 5 is

$$\{5; (3, 1, 1); (1, 3, 1); (1, 1, 3); (1, 1, 1, 1, 1)\}$$

The set of odd compositions of the

$$O_{5,3} = \{5; (3, 1, 1); (1, 3, 1); (1, 1, 3); (1, 1, 1, 1, 1)\}.$$

Lemma 4.5 ([6]). For positive integers t, n,

$$O_{n,m} = \bigcup_{i=0}^{t} ((2i+1) \odot O_{n-2i-1,m}).$$

*Proof.* Because of the definition of  $O_{n,m}$ , summands of the compositions in the set must be odd positive integers. When obtaining  $O_{n,m}$ , the largest summand must be m. The sum of the remaining summands of the composition whose first summand is m must be n-m. And again, since these summands will be at largest m, the expression becomes  $m \odot O_{n-m,m}$ . The proof is completed.

**Example 4.6.** For n = 7 and t = 2,

$$O_{7,5} = \bigcup_{i=0}^{2} \left( (2i+1) \odot O_{6-2i,5} \right) = (1 \odot O_{6,5}) \cup (3 \odot O_{4,5}) \cup (5 \odot O_{2,5})$$

considering the

$$\begin{split} O_{6,5} &= \{(5,1); (3,3); (3,1,1,1); (1,5); (1,3,1,1); (1,1,3,1); (1,1,1,3), (1,1,1,1,1)\},\\ O_{4,5} &= O_4 = \{(3,1); (1,3); (1,1,1,1)\} \end{split}$$

and

$$O_{2,5} = O_2 = \{(1,1)\}$$

sets results in

$$O_{7,5} = \left\{ \begin{array}{c} (5,1,1); (3,3,1); (3,1,3); (3,1,1,1,1); (1,5,1); (1,1,5); (1,3,3); \\ (1,3,1,1,1), (1,1,3,1,1); (1,1,1,3,1); (1,1,1,1,3); (1,1,1,1,1,1) \end{array} \right\}.$$

Now, we investigate the product sum of an odd compositions of the positive integer n, the largest summand of which is m, i.e.,

$$o_{n,m} := \sum_{\substack{a_1+a_2+\ldots+a_k=n\\a_i \le m}} a_1.a_2....a_k,$$

where  $i, m, k \in \mathbb{Z}^+$ . We may assume that,  $o_{n,m} = 0$  for non-positive integers *n*. It is clear that,  $o_{n,m} = o_n$  when  $n \le m$ .

**Example 4.7.** For *n* = 4 and *m* = 5,

$$o_{4,5} = 3.1 + 1.3 + 1.1.1 = 7.$$

**Theorem 4.8.** For an intergers n, t with 1 < n, we have that

$$o_{n,m} = \sum_{i=0}^{t} (2i+1)o_{n-2i-1,m}.$$
(4.6)

$$o_{n,m} = o_{n-2,m} + o_{n-1,m} - m \cdot o_{n-2t-3,m} + 2\sum_{i=1}^{t} o_{n-2i-1,m}.$$
(4.7)

*Proof.* For the equation (4.6) is proof,

$$O_{n,m} = \bigcup_{i=0}^t \left( (2i+1) \odot O_{n-2i-1,m} \right).$$

Then, we obtained from the sum of products function

$$o_{n,2t+1} = \sum_{i=0}^{t} \sum_{b \in O_{n-2i-1,2t+1}} (2i+1).\overbrace{a_1.a_2....a_k}^{\bar{b}}$$
$$= 2\sum_{i=0}^{t} i \sum_{b \in O_{n-2i-1,2t+1}} \bar{b} + \sum_{i=0}^{t} \sum_{b \in O_{n-2i-1,2t+1}} \bar{b}$$
$$= 2\sum_{i=0}^{t} i.o_{n-2i-1,2t+1} + \sum_{i=0}^{t} o_{n-2i-1,2t+1}$$
$$= \sum_{i=0}^{t} (2i+1).o_{n-2i-1,2t+1}.$$

Thus, the proof of equation (4.6) is completed. For equation (4.7) is proof;

$$o_{n-2,2t+1} = \sum_{i=0}^{t} ((2i+1).o_{n-2i-3,2t+1})$$
  
=  $\sum_{i=1}^{t+1} ((2i-1).o_{n-2i-1,2t+1})$   
=  $\sum_{i=1}^{t+1} 2i.o_{n-2i-1,2t+1} - \sum_{i=1}^{t+1} o_{n-2i-1,2t+1}.$ 

After some elementary calculations,

$$o_{n-2,2t+1} = \sum_{i=1}^{t+1} 2i \cdot o_{n-2i-1,2t+1} + \sum_{i=1}^{t+1} o_{n-2i-1,2t+1} - \sum_{i=1}^{t+1} o_{n-2i-1,2t+1} - \sum_{i=1}^{t+1} o_{n-2i-1,2t+1}$$
  
$$= \sum_{i=0}^{t} (2i+1) \cdot o_{n-2i-1,2t+1} + (2t+3) \cdot o_{n-2t-3,2t+1} - o_{n-1,2t+1} - 2\sum_{i=1}^{t+1} o_{n-2i-1,2t+1}$$
  
$$= o_{n,2t+1} + 2t \cdot o_{n-2t-3,2t+1} + 3o_{n-2t-3,2t+1} - o_{n-1,2t+1} - 2o_{n-2t-3,2t+1} - 2\sum_{i=1}^{t} o_{n-2i-1,2t+1}$$
  
$$= o_{n,2t+1} - o_{n-1,2t+1} + (2t+1) \cdot o_{n-2t-3,2t+1} - 2\sum_{i=1}^{t} o_{n-2i-1,2t+1}$$

Then,

$$o_{n,2t+1} = o_{n-2,2t+1} + o_{n-1,2t+1} - (2t+1) \cdot o_{n-2t-3,2t+1} + 2\sum_{i=0}^{t} o_{n-2i-1,2t+1}$$

**Example 4.9.** Because of the equation (4.5) for n = 7 and t = 2, the following was obtained:

$$O_{7,5} = \bigcup_{i=0}^{2} ((2i+1) \odot O_{6-2i,5}) = (1 \odot O_{6,5}) \cup (3 \odot O_{4,5}) \cup (5 \odot O_{2,5}),$$
  

$$O_{6,3} = \bigcup_{i=0}^{1} ((2i+1) \odot O_{5-2i,3}) = (1 \odot O_{5,3}) \cup (3 \odot O_{3,3}),$$
  

$$O_{7,3} = \bigcup_{i=0}^{1} ((2i+1) \odot O_{6-2i,3}) = (1 \odot O_{6,3}) \cup (3 \odot O_{4,3}).$$

From equation (4.6),  $o_{7,5} = 58$ ,  $o_{6,3} = 22$  and  $o_{7,3} = 43$  are obtained. To compute  $o_{n,m}$ , we use equation (4.7), in the following. For n = 7 and t = 2,

$$o_{7,5} = o_{6,5} + o_{5,5} - 5 \cdot o_{2,5} + 2(o_{4,5} + o_{2,5})$$
  
= 32 + 15 - 5.1 + 2.8  
= 58.

For n = 6 and t = 1,

$$o_{6,3} = o_{4,3} + o_{5,3} - 3.o_{1,3} + 2o_{3,3}$$
  
= 7 + 10 - 3.1 + 2.4  
= 22.

For n = 7 and t = 1,

$$o_{7,3} = o_{6,3} + o_{5,3} - 3.o_{2,3} + 2o_{4,3}$$
  
= 22 + 10 - 3.1 + 2.7  
= 43.

#### Acknowledgements

The present paper was supported by the Scientific Research Project Administration of Akdeniz University.

#### AUTHORS CONTRIBUTION STATEMENT

All authors have contributed sufficiently in the planning, execution, or analysis of this study to be included as authors. All authors have read and agreed to the published version of the manuscript.

#### **CONFLICTS OF INTEREST**

All authors jointly worked on the results and they have read and agreed to the published version of the manuscript.

#### References

- [1] Al, B., Alkan, M., Some relations between partitions and Fibonacci numbers, Proc. Book of 2nd. Micopam, (2019).
- [2] Al, B., Alkan, M., On relations for the partitions of numbers, Filomat, 34(2)(2020), 567-574.
- [3] Al, B., Alkan, M., Note on non-commutative partition, Proc. Book of 3nd&4th. Micopam, (2020-2021).
- [4] Al, B., Alkan, M., Odd compositions and odd partititons on positive integers, Proc. Book of 5th. Micopam, (2022).
- [5] Al, B., Alkan, M., Bir tam sayının parça sayısıyla kısıtlanmış kompozisyonları, Proc. Book of ICEANS, (2022).
- [6] Al, B., Alkan, M., Compositions of an integers and Fibonacci numbers, Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics, (2023) (accepted).
- [7] Andrews, G.E., The Theory of Partitions, Addison-Wesley Publishing, New York, 1976.
- [8] Andrews, G.E., Erikson, K., Integer Partitions, Cambridge University Press, Cambridge, 2004.
- [9] Andrews, G.E., Hirschhorn, M.D., Sellers, J. A., Arithmetic properties of partitions with even parts distinct, Ramanujan Journal, 23(1–3)(2010), 169–181.
- [10] Apostol, T.M., On the Lerch Zeta function, Pacific J. Math., 1(1951), 161–167.
- [11] Apostol, T.M., Introduction To Analytic Number Theory, Springer-Verlag, NewYork, 1976.
- [12] Chen, S.C., On the number of partitions with distinct even parts, Discrete Math., **311**(2011), 940–943.
- [13] Euler, L., Introduction to Analysis of the Infinite, vol. 1, Springer-Verlag, 1988 (translation by J.D. Blanton).
- [14] Ewell, J.A., Recurrences for the partition function and its relatives, Rocky Mountain Journal Of Mathematics, 34(2)(2004).
- [15] Ewell, J.A., Recurrences for two restricted partition functions, Fibonacci Quart., 18(1980), 1-2.
- [16] Gupta, H., Partitions A Survey, Journal of Research of the Notional Bureau of Standards B. Mathematical Sciences, 74B(1)(1970).
- [17] Hardy, G.H., Wright, E.M., An Introduction to the Theory of Numbers, 4th ed., Clarendon Press, Oxford, 1960.
- [18] Horadam, A.F., Jacobsthal representation numbers, Fibonacci Quarterly, 34(1)(1996), 40-54.
- [19] Koshy, T., Fibonacci and Lucas Numbers with Applications, Canada: Wiley-Interscience Publication, 2001.
- [20] MacMahon, P.A., Note on the parity of the number which enumerates the partitions of a number, Proc. Cambridge Philos. Soc., 20(1921), 281–283.
- [21] Mana, P., Problem B-152, The Fibonacci Quarterly, 7(3)(1969), 336.
- [22] Merca, M., Fast computation of the partition function, Journal of Number Theory, 164(2016,) 405–416.
- [23] Merca, M., New relations for the number of partitions with distinct even parts, Journal of Number Theory, 176(2017), 1–12.
- [24] Merca, M., On the number of partitions into parts of k different magnitudes, Discrete Mathematics, 340(2017,) 644-648.
- [25] Merca, M., A note on the partitions involving parts of k different magnitudes, Journal of Number Theory, 162(2016), 23–34.